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Lösungen zur Reibung1 
28.1  

geg.:                                                                                                          ges.:                                                                         

 Reibungszahl µ = 0,15                                                                       FR (Reibungskraft) = ? 

 Gewichtskraft FG = 200N 

 

Formel: 
      

     FR =  GF•µ  

 

     FR = N20015,0 •  

 

     FR = N30  

 

 

      28.2  

geg.:                                                                                                          ges.:                                                                         

 Reibungszahl µ = 0,18                                                                       FN = ? 

 Zugkraftt        F = 200N 

 

Formel: 
      

     F =  NF•µ  

 

    FN = µ
F
 

 

    FN = 
18,0

800N
 

 

    FN = N444.4  

 
 

 

      28.3 

geg.:                                                                                                            ges.:                                                                         

 µ = 0,25                                                                                                FN = ? 

       F = 300N 

 FG = 15N 

 

Formel: 

      FN = 
2•µ

gesamtF
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Lösungen zur Reibung2 
 

 

 

      FN = 
225,0

315

•
N

 

 

       FN = N630  

 

 

 
      28.4 

geg.:                                                                                                           ges.:                                                                         

 µ = 0,065                                                                                             FR = ? 

       FN = 1,2kN = 1.200N                                                                          M = ? 

 d = 80mm = 0,08m 

 

 

Formel: 
      

    a) FR =  NF•µ                                                                      b) MR =  
2

dFN ••µ
                                                                                    

         

      FR = N200.1065,0 •                                                              MR = 
2

08,0200.1065,0 mN ••
                                                                              

  

      FR = N78                                                                               MR = Nm12,3  

 

     28.5 

geg.:                                                                                                          ges.:                                                                         

 µ = 0,15                                                                                              FR = ? 

       F1 = 120N                                                                                           MR = ? 

 d = 150mm = 0,15m                                                                           F2(anpress) = ? 

       l1 = 390mm; l2 = 60mm 

       

Formel: 
      

    a) 2211 lFlF •=•                                                                 b) FR =  2F•µ                                                                                     

         

      F2 = 
2

11

l

lF •
                                                                            FR =  N78015,0 •                                                        

      F2  = 
mm

mmN

60

390120 •
                                                           FR = N117  

 

       F2 = N780      
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Lösungen zur Reibung3 

 

  c) MR =  
2

dFN ••µ
 

 

     MR = 
2

15,078015,0 mN ••
 

 

     MR = Nm775,8   

 

    28.6 

geg.:                                                                                                              ges.:                                                                         

 µ = 0,6                                                                                                    FN = ? 

       MR = 13,5Nm                                                                                         FR = ? 

 d = 90mm = 0,09m 

 

     MR =  
2

dFR •
                                                                           FN = µ

RF  

 

     FR =  
d

M R 2•
                                                                           FN = 

6,0

300N
 

 

     FR =  
m

Nm

09,0

25,13 •
                                                                     FN = N500                                                                                                                                                                                    

 

     FR = N300    

 

     28.7 

geg.:                                                                                                          ges.:                                                                         

 l = 14m                                                                                               α = ? 

       h = 4,5m                                                                                             FR = ? 

 FG = 150N                                                                                          FN = ? 
       µ = 0,6                                                                                               µmin = ? 

                                                                                                                  FH = ? 
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Lösungen zur Reibung4 

 
 

 

Formel: 
      

    a)
Hypotenuse

teGegenkathe=αsin                              

 

       
m

m

14

5,4
sin =α                   

 

        °=== 75,18321,0sin αα                                                                        

 

 

    
 

 

    b)
G

N

F

F
=αcos                                                                            c) FR =  NF•µ                                                          

 

      FN =  GF•αcos                                                                           FR =  N1426,0 •                                                                                     

 

       FN =  N15075,18cos •°                                                               FR = N2,85  

  

       FN = N142       

       
 

     

 

h = 4,5m 
l = 14m 

150N 

FG 

FN 
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Lösungen zur Reibung5 
 

  d)
N

H

F

F
=minµ                                                                             

 

      FH=  GF•αsin                                                                                                                                                                

 

       FN =  N15075,18sin •°  

 

       FN = N142       

 

       
N

N

142

48
min =µ  

 

       34,0min =µ  

 

 

 

     28.9 

geg.:                                                                                                          ges.:                                                                

 µ = 0,02                                                                                              FA = ? 

       FG = 50N                                                                                            FB = ? 

 d = 35mm = 0,035m                                                                          MRA = ? 

       l1 = 220mm; l2 = 270mm                                                                   MRB = ? 

       lgesamt = 540mm 

       F = 5,8kN = 5800N 

 

 

 

Formel: 
      

    a) FB =  
gesamt

21

l

lFGlF •+•
 

 

        FB =  
540mm

27050220800.5 mmNmmN •+•
                                                                                                                                                                                                                                                                     

 

        FB = NN 388.296,387.2 ≈     

 

 

        FA = ( ) BG FFF −+           

       

        FA = ( ) NNN 388.250800.5 −+           

                                                                                                                                                                                              

        FA = N462.3                                     
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Lösungen zur Reibung6 
Formel: 

      

    b) MRA =  
2

dFA ••µ
    

 

        MRA =  
2

035,0462.302,0 mN ••
       

 

        MRA= Nm2,1   

 

 

 

        MRB =  
2

dFB ••µ
    

 

        MRB =  
2

035,0388.202,0 mN ••
       

 

        MRB= Nm8,0   

 

                                                                                                                                                              

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


